

Bellwork: 4/8/13

Solve the following rational equation:

LCD: $x(x+4)(x-2)$

$$1) \frac{3}{x^2+4x} + \frac{2}{x^2+2x-8} = \frac{4}{x^2-2x}$$

Restrictions:

$$\begin{array}{l} x=0 \\ x \neq 0 \end{array} \left\{ \begin{array}{l} x+4=0 \\ x \neq -4 \end{array} \right\} \left\{ \begin{array}{l} x-2=0 \\ x \neq 2 \end{array} \right.$$

$$\frac{x(x+4) \cancel{(x-2)}}{\cancel{x(x+4)}(x-2)} + \frac{2x \cancel{(x+4)} \cancel{(x-2)}}{\cancel{x}(x+4)\cancel{(x-2)}} = \frac{4(x+4) \cancel{(x-2)}}{\cancel{x}(x+4)\cancel{(x-2)}}$$

$$3x-6+2x=4x+16$$

$$5x-6=4x+16$$

$$x-6=16$$

$$x=22$$

3)

$$\frac{x}{x-5} + \frac{x}{x-5} = \frac{3}{1}$$

LCD: $(x-5)$

$$\frac{x}{x-5} + \frac{x}{x-5} = \frac{3(x-5)}{(x-5)}$$

$$x+x=3(x-5)$$

$$\begin{array}{r} 2x = 3x - 15 \\ -3x \quad -3x \\ \hline -x = -15 \end{array}$$

$$x \neq 5 \quad x-5=0$$

$$x = 15$$

7)

$$\frac{5}{x-3} = \frac{2x}{x^2-9}$$

$$(x-3) \mid (x+3)(x-3)$$

$$\text{LCD: } (x-3)(x+3)$$

$$x-3=0 \quad x+3=0$$

$$\frac{5(x+3)}{(x-3)(x+3)} - \frac{2x}{(x+3)(x-3)}$$

$$5(x+3) = 2x$$

$$\begin{array}{r} 5x + 15 = 2x \\ -5x \quad -5x \\ \hline \end{array}$$

$$x \neq \underline{3, -3}$$

$$\frac{15}{-3} = \frac{-3x}{-3}$$

$$\boxed{x = -5}$$

8)

$$\frac{1}{9} + \frac{1}{2x} = \frac{1}{x^2}$$

$$9 \mid 2x \mid x \cdot x$$

$$\text{LCD: } 9 \cdot 2 \cdot x \cdot x$$

$$x=0$$

$$\frac{1 \cdot 2 \cdot x \cdot x}{9 \cdot 2 \cdot x \cdot x} + \frac{1 \cdot 9 \cdot x}{2 \cdot x \cdot 9 \cdot x} = \frac{1 \cdot 2 \cdot 9}{x \cdot x \cdot 2 \cdot 9}$$

$$2x^2 + 9x = 18$$

$$\quad \quad \quad -18$$

$$2x^2 + 9x - 18 = 0 \quad -36$$

$$x \neq \underline{0}$$

$$(2x^2 + 12x - 3x - 18) = 0$$

$$2x(x+6) - 3(x+6) = 0$$

$$(2x-3)(x+6) = 0$$

$$2x-3=0 \quad x+6=0$$

$$\begin{array}{r} 2x = 3 \\ x = \frac{3}{2} \end{array} \quad \boxed{x = -6}$$

$$11) \quad \frac{6x}{x-7} = \frac{x-49}{x^2-7x} + \frac{1(x-7)}{x} \quad \text{LCD: } \frac{x(x-7)}{x=0 \quad x-7=0}$$

$$x(x-7) \mid x(x-7) \mid x(x-7)$$

$$6x = x - 49 + x - 7$$

$$6x = 2x - 56$$

$$\begin{array}{r} 6x \\ -2x \\ \hline 4x = -56 \end{array}$$

$$x \neq \underline{0, 7}$$

$$x = \underline{-14}$$

$$12) \quad \frac{x(x-4)}{2x-6} = \frac{2 \cdot 2(x-3)}{x-4} \quad \text{LCD: } 2(x-3)(x-4)$$

$$2(x-3) \mid (x-4) \quad \cancel{2(x-3)} \quad x-3=0 \quad x-4=0$$

$$x(x-4) = 4(x-3)$$

$$x^2 - 4x = 4x - 12$$

$$\begin{array}{r} x^2 - 4x \\ -4x + 12 \\ \hline x^2 - 8x + 12 = 0 \end{array}$$

$$x^2 - 8x + 12 = 0$$

$$x \neq \underline{3, 4}$$

$$(x-6)(x-2)$$

$$x-6=0 \quad x-2=0$$

$$x=6 \quad x=2$$

$$x = \underline{6, 2}$$

Homework: 4/8/13

Page 7 - #1 - #6

